

Prepared For	James Island Charter High School [SC]
	1000 Fort Johnson Rd
	Charleston,SC 29412
	Timothy Thorn
	JICHS Principal
	timothy_thorn.c@charleston.k12.sc.us
	(843) 762-2754
Licensor	SchoolPass, Inc.
	267 Kentlands Blvd, #2034
	Gaithersburg, MD 20878
Prepared By	Ryan Baroff
	ryan.baroff@schoolpass.com
	(954) 621-1471
	(00.7,02
Created Date	May 25, 2023
Expiration	Jun 20, 2023



MODULES PURCHASED & PRICING

Year 1	Price	QTY	Subtotal
Attendance Automation Subscription Includes Campus Management Dashboard, Hall Pass Management, Alerts and Reporting	\$5,650.00	1	\$5,650.00
Scan Station Subscription Includes 1 station (academic classroom)	\$60.00	89	\$5,340.00
Student Management - Add-on Includes 3 station licenses for morning arrival scans	\$950.00	1	\$950.00
Visitor Management - Additional Station(s) Brings the total non-academic station licenses to 16: (8 door kiosks for student scans, tardy suite, clinic, 2 media center, 2 guidance office, 2 admin office)	\$150.00	13	\$1,950.00
Visitor Management Hardware Bundle Includes iPad stand, label printer, label roll (to print tardy badges from the tardy suite)	\$1,230.00	1	\$1,230.00
PowerSchool Integration Contacts Table Required	\$0.00	1	\$0.00
Hardware Shipping & Handling Fee Hardware Shipping & Handling Fee (Flat)	\$65.00	1	\$65.00
			\$15,185.00
Year 2			
Attendance Automation Subscription Includes Campus Management Dashboard, Hall Pass Management, Alerts and Reporting	\$5,650.00	1	\$5,650.00
Scan Station Subscription Includes 1 station (academic classroom)	\$60.00	89	\$5,340.00
Student Management - Add-on Includes 3 station licenses for morning arrival scans	\$950.00	1	\$950.00
Visitor Management - Additional Station(s) Brings the total non-academic station licenses to 16: (8 door kiosks for student scans, tardy suite, clinic, 2 media center, 2 guidance office, 2 admin office)	\$150.00	13	\$1,950.00



PowerSchool Integration	\$0.00	1	\$0.00
Contacts Table Required			
			\$13,890.00
Year 3			
Attendance Automation Subscription Includes Campus Management Dashboard, Hall Pass Management, Alerts and Reporting	\$5,650.00	1	\$5,650.00
Scan Station Subscription Includes 1 station (academic classroom)	\$60.00	89	\$5,340.00
Visitor & Student Management - Add-on Includes 3 station licenses for morning arrival scans	\$950.00	1	\$950.00
Visitor Management - Additional Station(s) Brings the total non-academic station licenses to 16: (8 door kiosks for student scans, tardy suite, clinic, 2 media center, 2 guidance office, 2 admin office)	\$150.00	13	\$1,950.00
PowerSchool Integration Contacts Table Required	\$0.00	1	\$0.00
		1	\$13,890.00



PRICING ASSUMPTIONS AND TERMS

- Contract Term: three (3) years
- Pricing provided is based on 1 physical campus(es)
- Pricing quoted in US Dollars
- Year 1 cost due at signing
- Buyer may upgrade its subscription or add modules at any time
- Buyer will assign a point of contact or administrator
- Travel expenses are invoiced separately (if onsite support is requested by the School)